BRANHAM TRAIL BRIDGE
ITEM 55701

3'x12'x2-10-1/2" Backwall
3"x12"x8-0" Backing Planks

Attach Backing Planks to Backwall Using (2) 1/2"dx 7 1/2"
Bolt with Malleable Iron Washer and Hex Nuts

Attach Stringer to Sill Using Bearing Shoe
3-1/8x15"%20" glulam stringer for Trail No. 6333,
5-1/8x18x34" for Trail Nos. 6015 and 6360. See
previous sheet for treatment.

Attach Spacer and Curb to Decking

/ Using (3) 5/8"d Timber Bolt

3x12'x60" Decking. Sawn Timber. Maintain
1-inch Maximum Gap Between Decking.

Attach Decking to Stringers
Using (2) 5/16'd x 7" Ring

Shank Nails, Alternate Centers
3'%x6"'x2-0" Spacer
6'x6" Curb

Construct rock turnpike for
bridge approaches. Turnpike
shal be bid as ITEM 20422.

—

*Timber sill may be either
12x12" solid sawn, 12-1/4x12"
glued-laminated, or built up
3x12", 4x12", and 6x12".

3"x12"x60" Decking Planks

(2) 3'x12'x8-0" (1)
. 3"x6"x8-0" Backing
Bearmg Shoe. See Planks. Attach
Detail Next Sheet T m Backing Planks to
2]-3/4 @ Bl i / i g)teck Plantljs.andéu
Nut with Standard / ® ’ R.rmgsehrs ks;gg_'
Plain \¥/ashers — / A
(2)-3/4"Dx8" Lag Bolts 7T j ® ¢
with \Washers at Each | - -
Bearing Shoe — / : : °
12°x12'x8" Sill* / /
TYPICAL DECK SECTION W/CURBS
\
\ Beaverhead—Deerlodge National Forest B—D Brldge Order Sheet 1

) [Prawn by: £ Bl 03/r0/207% ‘
|Checked By: . Ack 03/30/201% |




BRANHAM LAKE TRAIL BRIDGE
ITEM 55701

L L. L. .
15 105 105 ‘«4

Ni—
Ni—

] I I o
2 105 105 ‘ 2

o
o
o

|
T

I
— “—‘j

36" x 2" Curb Block
L' 4 Holes for 2'd. CURB BLOCK PLAN CURB BLOCK PLAN @ SPLICE

Timber Bolts

3" Timber Bolt

S
A= v s
Malleable ron Curb Block

Washer typical C%T'ONC 5 Deck Planks - %S .
TYPICAL NNECTION NNECTION PLICE
Under Nut 2'x6" Continuous Plate ___J

SAWN CURB CONNECTION DETAILS

3-1/8x12" Glu-Lam

Diaphragm. Stagger -
Diaphragms to Fit Hangars —‘

, L ,
¢ Bearing & Stringer L A A
F\
-

i = =N =
’ ‘47 ytc)%" — Simpson Strong Tie HU212-2
Double Shear Joist Hanger
. (or approved equal)
8 —-—%Bearing &
/ Ab g Install Diaphragms at Mid-Span and Near Abutments 3 locations for 20-foot.
/ o ' utment Install Diaphragms at Third Points of Span and Near Abutments 4 locations for 34-foot.
7 Z.
‘? | = — 1/2'xVariesx6" DIAPHRAGM DETAILS
o Smgﬂfr]%’gﬂth ak Elastomeric Pad 0 05 1 2
] (50 Durometer) ™™ o
PLAN
— | Stringer Width
Plus 1/4"
| | | x
| 8 L 7 7771777 p
2" | ?
G\A 7 13/16"d x1" Slotted ‘ | ‘ o
: Hole for 3/4'd Bolt ‘ & !
8 — \ Stringer \
& Nut w/Standard | |
Plain Washers ‘ e — ‘
! tringer Width !
FW ‘ Minus 1/4° ‘
7/8'd Holes for ‘ o) \ \ \
renortets T speview | e 6 SHOE DETALE 2
0 0.25 0.5 |
foot
FOREKM{ Beaverhead—Deerlodge National Forest B _ D B rl- d g e Ord er S h eet 2
& [Drawn by: . Bl 03/r0/2014 ‘

\7n
ewerossst)  (Crocked By ¢ Aariofe |




MAY CREEK BRIDGE
ITEM 55702

3'x12'x2-10-1/2" Backwall
3"x12"x8-0" Backing Planks

Attach Stringer to Sill Using Bearing Shoe

5-1/8'x18x34" glulam stringer.

Attach Spacer and Curb to Decking
Using (3) 5/8"d Timber Bolt

3x12'x48" Decking. Sawn Timber. Maintain
1-inch Maximum Gap Between Decking.

Attach Decking to Stringers
Using (2) 5/16'd x 7" Ring

Shank Nails, Alternate Centers
3'%x6"'x2-0" Spacer
6'x6" Curb

*Timber sill may be either
12x12" solid sawn, 12-1/4x12"
glued-laminated, or built up
3x12", 4x12", and 6x12".

3"x12"x48" Decking Planks

n  m

Bearing Shoe. See ] i 1
Detail Next Sheet (2] 312'%8-0" (1)
/ o | 3%6x8-0" Backing
(2)-3/4" @ Bolt & Planks. Attach
Nut with Standard :AN:A Backing Planks to
Plain Washers Deck Planks and
© © Stringers Using 6
(2)}-3/4'Dx8" Lag Bolts — \ Nk ! o | Ring Shank Nails
with Washers at Each N ®
Bearing Shoe
© @‘\
e Attach Backing
® Planks to Backwall
i © Using (2) 1/2'd x 7
~ - 1/2" Bolt with
Malleable Iron
/ / Washer and Hex
12'x12"x8" Sill* Nuts

TYPICAL DECK SECTION W/CURBS

B—D Bridge Order Sheet 3

) [Prawn by: . Bull 03/25 2014 ‘
\Checked By N Gasomann 03/28/201% ‘




MAY CREEK TRAIL BRIDGE
ITEM 55702

N—
S
N

1oL zo%“ ‘«4% %4 O% O% =2
:T I T [} [} o i
T o / o 1t T o o 1t
- f o T
36" x 2" Curb Block
]7, d. Holes for 2 CURB BLOCK PLAN CURB BLOCK PLAN @ SPLICE

Timber Bolts

3" Timber Bolt \
\

yw \?}

Malleable Iron

13/16"d x1" Slotted
Hole for 3/4"d Bolt
& Nut w/Standard

Curb Block
Washer typical ELEVATION Deck Planks ELEVATION
TYPICAL CONNECTION _ CONNECTION @ SPLICE
Under Nut 2'x6" Continuous Plate ___J
SAWN CURB CONNECTION DETAILS
Curb
3-1/8x14" Glu-Lam Diaphragm. /
Stagger Diaphragms to Fit /
fg“f Hangars i‘z‘:‘f
¢ Bearing & Stringer o =
\¥ m ‘ \ Stringer
7
Simpson Strong Tie HUZ212-2
—~d—11 | ~——@Bearing & R

L | /// Abutment Install Diaphragms at Third Points of Span and Near Abutments 4 locations

7 Z.
| = | — 1/2'xVariesx6" DIAPHRAGM DETAILS
? 4k Smgﬂff]%’fﬁh 4k Elastomeric Pad 0 05 1 )

' (50 Durometer) " .

PLAN

— | Stringer Width
Plus 1/4"
| 0

T
.
Plain Washers

r w
7/8'd Holes for : i \
Anchor bolts SIDE VIEW ‘ 172"k

i /2R
| g |
| Stringer |
! !

Stringer Width !
‘ Minus 1/4" ‘

END VIEW

BEARING SHOE DETAILS

0 0.25 0.5

|

FOREST smv\q

(A

\ V’ruworm\

Beaverhead—Deerlodge National Forest

‘Drawn by:

. Bult 03/27/001% ‘
~ [Checked By:

N, Gacsmarn 03/28/2074 ‘

B—D Bridge Order

foot

Sheet 4




